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Answer all Groups as indicated.

PSP JEYe PRIela A8 @ |
The figures in the right-hand margin indicate marks.
. QIRIE IS URRER & Q61 g8 Ry 9Fe @68 /
Answer all the bit questions of a particular question
serially at one place to ensure effective evaluation.
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.~ Group—- A
@ — aQua
All questions are compulsory.
geuS g9 QRNOIGNS 26T |

1. Choose and write the correct answer of the
following : Ix10=30
FONSCYLRq A0Q AAQ QIR B NG
(@) When two reactants, A and B are mixed to

give products C and D, the reaction quotient,
Q at the initial stages of the reaction :

A @ B ¢a¢ goriag Aaiaea, C 68 D aqiegea
A@eIN 1 geaaia gan 6qiainsa 984wl

eioce, Q :
(i) is zero
DA

(if) decreases with time
AQQ AL eialNg
(iif) is independent of time
. Q09 QU6 DUR 96Q FI@
(iv) increases with time
QAL AR Q2N
(b) For the process, H,O(l) (1 bar, 273K) —

H>O(g) (1 bar, 373 K), the correct set of
~ thermodynamic parameters is :
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H>O(l) (1 bar, 273K) — H,0(g) (1 bar, 373 K)
geal QIR 0K A6FIPINEHAR AINIFTR 629 :
() AG=0, AS=sve
(i) AG=0, AS =-ve
(i) AG=+ve, AS=0
(iv) AG=-ve, AS =+ ve

(c) Uranium (A = 238, z = 92) emits an o-particle.
The product has mass number (A) and
atomic number (z), respectively, are :
9RIGae (A = 238, z = 92) IR 2INTI 989l G0
AMdER AN GG Al G AACNEG SIS A
Q2AIFES

(i) 238and92 -
(i) 234 and 90
(iii) 238 and 90
(iv) 236and90

(d) The solubility of Ca(OH), is s mol L™". The
Ksp Uunder the same conditions s :
Ca(OH),a QI94el s 69AIR 9a Aea 26e' | QIql
2SRI6Q NYIA QMG FEITR 69 -
(i) =482
(i) ~3s*
(iii) 4s?
(iv) s®
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(e) Aspirinis:
21Q0Q 9@ :
(i) Sedative
6QQQl Qe B8
(i) Antipyretic
QARIAR
(iii) Anti-biotic
191§ IR
(iv) Antiseptic
2186995
() Which amino acid has phenolic —OH group
as its backbone ?
60Q 2RI 16 6T6riAn —OH go MIRERIR
aQ g ?
(i) Glycine
AR
(i) Leucine
alotaley
(iii) Serine
6Q0R
(iv) Tyrosine
QIREQUAR
(@) One of the following is a cross-linked
polymer :
FEQIB RIQ 69T R A°6AIG YRR :
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(i) Bakelite
6QEANIAG
(i) Glycogen
QRERACTR
(iii) Nylon
MR
(iv) Polythene
afaR
(h) XeF, and XeF are expected to be :
XeF 8 XeF, @_@‘6‘@_

=B oxldnsmg (i) reducing
. Flea1 AR IR

(ili) unreactive (iv) strongly basic
Joqal A/ Qe QI

QAL 6@ A16Q QAN |
(i) Which kinds of isomerism are exhibited by
octahedral Co(NH,), Br,Cl ?
aaqmm Co(NH;), Br,Cl 6a@ aeia
‘An1e0Q0l’ 6QdiRalN ?
_l) Geometrical and ionization
QUIToR 6 ABALAE
(ii) Geometrical and optical
IR 6 2lEAR ARIF ANIE
(iii) Optical and ionization
2IeRIR IRIE ARG @ IAFRVE
(iv) Geometrical only
TR 6P
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() Benzylchloride can be prepared from
toluene by reacting with :

SRR F6QIB LS JOqYl A1 6QR6RIan 6]IAURR
6QR2IN :
&) HCI
(i) SOCl,
(i) SOCI,
(iv) NaOCI
2. (A) Answer the following questions :  1x5=5
FIRGIC 9996 2aq @ :
(a) Esterification does not take place

between ethyl alcohol and excess
H,S0, at 170°C. Explain.

QAR ANCHILN YG° 2GR TVAIF) FRIYER
170°C @@I96Q RaaF6aan 29 A1% |
QI |

(b) Identify A and B in the following
reaction :

26918 goaalea A Ye° Bg 990 @@

(i) CO, ,[B]
(i) H,O/H"

(c) Write the unit of cell constant.

CHSBr Mg/ ether S[A]

68 YA Y9 6mSl |
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(d) What happens when nitrobenzene

reacts with conc. HNO; in the presence
of conc. H,SO, ?

RINELIEARTR QIR A9RF) RVLTEQ AR
FIRGR 2¢) AL Joqe 96 @' Q8 ?

(e) Write the IUPAC name of the following

compound : .
26918 6ldea IUPAC Q191 64 :
CH,; - (l:H — CHO

OCH,

(B) Fill in the blanks : T®8=5
KR JE QQ :

(a)

For the gaseous reaction, aA+bB —
cC+dD, An is equal to

e QyIg1a g8aeal, aA+bB =cC+dD

ARANQLIRY A2 QIR |
The thermal stability of the hydrides of
Group 16 ________ down the group.

gq 16Q 219gIeQ AIeeq SIIa gIdg 999
o eem |

Phenol on oxidation with air gives

TR QY ATE FIE 626M
ce@ald |
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(d) If the activation energy of a reaction is

- low, the reaction is relatively
66lITN QYR AQAG! 98 9 26R, 69
Joqalc @RAINe AN |

(e) Concentrated hydrogen fluoride exists
in the molecular formula of ;
JY LURNCKLIEHTR 6FIANRAE — 269@

A°6REEQ 2N |
Group - B
. o — IQUa
3. Answer any ten questions : 2x10=20

66T @OT g9Q Q@] @ :

(a) What is the equilibrium constant expression
for the reaction ?

Q6B JORAIQ QAIFIQY! YT FNIAR @€ ?
P4(s) + 504(g) == P4044(s)

(b) The concentration of hydrogen ion in a
sample of soft drinks is 3.8 x10~2 M. What
is its pH ?

@ €9 dIfa AJRIER LARECLIERR AR ALKS!
3.8 x 107*M 626m 921a pH 6060 629 ?

(c) Calculate the entropy change involved in the
conversion of one mole of water at 373K to
vapour at the same temperature. (Latent heat
of vaporisation of water at this temperature,

AHp = 2267 kilg™):
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9@ 691IR @ 373K QaI196Q 4IE JREIC 629161
28Y8 IR6YId 608 Rl @@ IAH,,, = 2.257
kdg™)
(d) Complete the following reaction and write the
names of A and B.
6018 goaalg 2°9d @a 6 A 99° Ba qQia
g | -
——CO
——CO _
(e) Using EAN rule predict the molecular formula
of nickel carbonyl.
EAN Q20 QIe21a 96 F6an QIR 2I6ee
A°6R0Q Yol @ |
(f) How is benzoic acid converted to benzalde-
hyde ?
6QA6RIAR 2T, @UQ 6ARNINLLUNAER JeRe
62IRAIRS ?

(g) What is Benzoin condensation ? Give
equation.

EIRERINR ARR @6 ? RS T2 |
(h) Identify A and B in the following reaction :
6B goqalca A @ B 99 :

CeHs—CH,—CHBr—CHy —2280H , o TBr g

NaOH Br,/KOH

>NH > A >B .
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(i) What are pesticides ? What are ditterent
types of pesticides ? Name one of each type.

Q5099 A9y @6 ? 92Q SRR gRIa /4 7
Jeciaq 6915 QIF eS|

() Whatis Stephen's reduction reaction ? Give
equation.

Feaae T9I08 9oqal /@'4 ? AA1RAd @ |

(k) How does copper metal react with ammonia ?
Give the reaction with the product formed.
Rl QU lsARRl Jue Jogal K62 ? 996 QISR
Qe AMRQE @ |

() State Le-Chatelier's principle and explain the
effect of temperature on the synthesis
of NHa.

A-0I6eRTIa GAC AERS |9 | AI6AITAI 9O
QRIJQ gaie 9 |

4.  Answer any three questions : 3x3=9
6U6161d BR6TIT Y9 AR Q@2 :
(a) If one mole of water and one mole of CO are

~ takenin a 10 litre vessel and heated to 986°C,
40% of water reacts with CO as in

H,O (1) + CO(g) = H,(g) + CO, (9).
Calculate the equilibrium constant for the
reaction at the temperature mentioned.
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Chemist

9@ 10 REQ 6QIENER IR 6 IR G Y@ 67N
CO fuiaml 9e° 986°C 2aldea 99 gl |
6aslIaml, 40 9690 @6 CO 920 76918 9ol
JQ goRdl onl | 990 ARITER JORAQ AITHISQ
JOIF 2AIQ @A |

How are the solvents classified on the basis
of proton transfer ? |

—_— e

6QITR QIRIBRG IR A7 FIQ QIRRAQ 65419
caIRgQ ?

A compound 'A' having molecular formula
C,H.O,N on reaction with Sn and conc. HCI
gives a compound. B which when treated with
NaNO, and dil HCI gave compound C having
molecular formula C,H,O. The compound C
when treated with Na metal gives efferves-
cence and when reacts with CrO5 gives a
saturated aldehyde having 2 carbon atoms.
Determine the structures and names of A, B

and C along with the sequence of reaction.
aigiea 2°6ae C,H,O,N 29l 9@ cAI5@ A € G
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JIe LINEFICQAUNS 2¢), ALC Yol Q@ 6Kl
B &4 aizig NaNO, 6 g RELIEFAR A7) AL
RAGIQ FAIREA 2Iseq aeae C,H.O coa 6@
C dep | 6d1de Cq 6Q10as dIg dYe @d9IQ
FARER 999 2IFNACR AV UG 6LIRAN 9Q°
cdldi@ Cq CrO; 9u9e QU919 @QIRem @@ AN
AR 998 IR JRYS AINGIIREG TN | AgRe
goqal 9ec A, B 8 Ca Q°aeql 8 Qifl QEqs
QQ |

(d) Give one method of preparation of Xek,.
Mention one reaction in which it acts as an
oxidising agent. Give its structure.

XeF, g96a 9@ J8% 6R¢ | 699 goqalea el
U@ G199 964 QI H6Q, AERS KA | IR A°ASD!
geIe @ |

(e) Derive the Nernst equation of electrode
potential at 25°C for the electrode reaction,
MM (aqg) + ne = M(s).

M™(aq)+ ne = M(s) ¢ 6eQ gaaia 25°Cea
GP0 630 AR] AMARAE QULIA A |
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Group-C
o — QUG
Answer all questions.
AL g4I Q@Q Q2 |
5. Discuss the principles of extraction of copper from

its sulphide ores. How does it react with dil and
~conc. HNO; ? Give reactions. 5+2=7

ARTIRE g 949 Al FIATR FAAAQ RIS @9 |
42l Q98 A 8 TIP FIRER g 9Be goRl @6 ?
gooal 6nd |

Or/ @2/

Describe the Dennis method of preparation of
fluorene with a neat diagram. How does it react
with glass ? _ 3H+2+2=7

66RQ A806R 6GI0RR 996 €Al @R | 9@ 98 TG Tl |
N2l Qg AR @A} goqal @6 ?

6. (a) Predict the nature of the aqueous solutions
of the following substances. 3

" Q6918 JQIIERl 9R1G 9EIR 990 Q8RS 99 |
(i) NaCN (i) Na,CO, (i) CH,COONH,
(iv) Na,SO, (v) FeCl, and (vi) CuCl,

Chemistry (Set-D) 13 - ipTo.
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(b) In a first order reaction, the reactant
concentration decreases from 0.8M to
.0.4M in 15 min. What is the time taken for
the concentration to change from 0.1M to
0.025 M ? 4

@ g @fl goegriea 15 facea goriaeq IS
0.8Mgq 0.4Mgq «fad | aigel 0.1Mg 0.025M
JAQee 9 6R6S AT NGS |

Or/ @ar

Write notes on : 3%+3%=7

o4 6ad : |

(@) Faraday's second law of electrolysis
TIQUERT 6QQIon IV RO1E DO

(b) Nuclear fission
QORNY VRS ;

7. (a) How do you prepare benzoic acid from

(i) n-propyl benzene, (ii) Phenylcyanide and
(iii) Benzene ? 3
(i) n-propyl benzene, (ii) Phenylcyanide 4
(iii) Benzenegq @93 69q612Q 27, 996 909 ?

(b) What is Schmidt reaction ? Write the
structure of the product of this reaction. 2

Q2 goqal @’'a ? A8 JgoRdia QQIeq I°eew
@2 | |
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(c) Explain Carbylamine reaction. 2
QAT goFal Y12 |
Or/ @7l
(@) Bring out the following conversions :
12x3=47
06019969 Jaeas A6 :
(i) Benzene to m-dichlorobenzene
6RATAG 6610 1-CIRERICAICARTRER
(i) Nitrobenzene to Benzamide
ARCLIERRGRG 6ARFTIRBER
(iii) Benzene to n-Butane
EARTAY FATM QECRE]
(b) What are soap and detergents ? How do they
differ ? 141 =22
AR B PR @6 ? 6 QAR GTIQ |
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